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Question Number : 1 Question Id : 87827054070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who defined the past of human society in terms of technological and chronological stages marked by the successive use of
tools made of stone, bronze and iron (called Three-Age System)?

1. Daniel Wilson

2. DK Bhattacharya

3. REH. Wheeler

4. Christian J. Thomsen

Options :

878270212841. 1
878270212842. 2
878270212843.3

878270212844. 4

gcollegedunias

~

Question Number : 1 Question Id : 87827054070 Question Type : MCl(



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212841. 1
878270212842. 2
878270212843. 3

878270212844. 4

Question Number : 2 Question Id : 87827054071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which is the correct sequence of the following glaciallinter-glacial perieds arranged from the first to the last?

A Gunz
B. Wurm

C. Mindel

Options : gcollegedunias

~



878270212845. 1
878270212846. 2
878270212847. 3

878270212848. 4

Question Number : 2 Question Id : 87827054071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(B), (
2 (A), (C),
3. (A), (

(

4 (C), (B), (D), (A)

Options :

878270212845. 1
878270212846. 2
878270212847. 3

878270212848. 4

Question Number : 3 Question Id : 87827054072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 .
collegedunia:

Correct Marks : 4 Wrong Marks : 1
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Mesalithic period gained the recognition as a seperate cultural identity among European scholars only after the discovery of
the type site;

1. Victoria West
2. Langhnaj
3. Mas'd Azil
4 Tardenoisean

Options :

878270212849. 1
878270212850. 2
878270212851. 3
878270212852. 4

Question Number : 3 Question Id : 87827054072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270212849. 1
878270212850. 2
878270212851. 3

878270212852. 4

Question Number : 4 Question Id : 87827054073 Question Type : MCN Ontian Shufflina - Nn Te

Question Mandatory : No Calculator : None Response Time : N.A Thi collegeduniag
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Correct Marks : 4 Wrong Marks : 1

Who developed the radioactive Carbon-14 (C'*) method to determine the age of prehistoric arfifacts?

1.W_F Libby

2. H.T Lambrick
3. FR. Allchin
4. B_ Alichin

Options :

878270212853. 1
878270212854. 2
878270212855. 3

878270212856. 4

Question Number : 4 Question Id : 87827054073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270212853. 1
878270212854. 2
878270212855. 3
878270212856. 4

uestion Number : 5 Question Id : 87827054074 Question Type : MC( .
Q Q Q yp collegedunia:

Question Mandatory : No Calculator : None Response Time: N.AThi -



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following isfare the Chalcolithic culture(s) of India?
{A). Kayatha

(B). Meghula

(C). Malwa

(D). Jorwe

Choose the correct answer from the options given below:

1. (A), (B) and (C)
2. (A), (C)and (D)
3. (A), and (D) only.
4 (B)and (D) only

Options :

878270212857. 1
878270212858. 2
878270212859. 3

878270212860. 4

Question Number : 5 Question Id : 87827054074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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2 &ad (A), (C) 3R (D)

3. ®ad (A), 3R (D)

4 ®ad (B) 3R (D)
Options :
878270212857. 1
878270212858 2
878270212859. 3

878270212860. 4

Question Number : 6 Question Id : 87827054075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Match List-l with List-ll

List-l ListI

Main urban metropolis sites of Indus Valley Civilization State / Country
(A) Mohan-jo-daro (1) Gujarat

(B) Lothal (Il) Haryana
(C) Kalibangan (Ill) Pakistan
(D) Banawall (IV) Rajasthan

Choose the correct answer from the options given below:

1. (A)- (1), (8) - (1), (C) - (1), (D) - (IV)

2.(A)- (), (B) - (I, (C)- (V), (D) - (1)

3.(A)-(V), (B)- (), (C) - (1), (D) - 1)

4. (A)- (), (B)- (1), (C)-(IV), (D) - ()
Options :

878270212861. 1
878270212862. 2
878270212863. 3
878270212864. 4

Question Number : 6 Question Id : 87827054075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1_(A) - (11}, (B) - (IlI), (C) - (1), (D) - (IV)
2 (A) - (1), (B) - (Il), (C) - (IV), (D) - (1)
3. (A) - (IV), (B) - (I1), (C) - (1), (D) - (1)
4 (A) - (lll), (B) - (1), (C) - (IV). (D) - (I)

Options:

878270212861. 1
878270212862. 2
878270212863. 3
878270212864. 4

Question Number : 7 Question Id : 87827054076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which technique is used for the manufacture of 'Upper Palaoclithic Blades'?

1. Punching technique

2. Block-on-Block technigue

3. Grinding and polishing technique
4. Anvil technigue

Options :
878270212865. 1

878270212866. 2 @collegedunias

878270212867. 3 N



878270212868. 4

Question Number : 7 Question Id : 87827054076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212865. 1
878270212866. 2
878270212867. 3
878270212868. 4

Question Number : 8 Question Id : 87827054077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Arrange the prehistoric cultural periods according to their appearance from first to last
(A). Solutrean

(B). Azilian

(C). Acheulean

(D). Aurignacian

Choose the correct answer from the options given below:

1. (C), (B), (A), (D)
2 (C), (D), (A), (B)
(D), (A), (C), (B)
(B), (D), (C), (A).
Options :
878270212869. 1
878270212870. 2
878270212871.3

878270212872. 4

Question Number : 8 Question Id : 87827054077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270212869. 1
878270212870. 2
878270212871.3
878270212872. 4

Question Number : 9 Question Id : 87827054078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Match List-l with List-ll and choose the correct one from the given options.

List-l List-ll
Tool Type Cultural period
(A). Backed point (). Chatelperronian

(B). Small pointed blade with one side blunted |(II}). Aurignacian

(C). Eyed needles (111}, Gravettian

(D). “Steep” and “nosed’ scrapers (IV). Solutrean

Choose the correct answer from the options given below:

1.(A)-(1) (B)- () (C)-(IV) (D)- (I}
2. (A)-(IN), (B) - (1), (C) - (1), (D) - (IV)
3. (A)- (1) (B) - (IV) (C)-(lin), (D) - (1)
4.(A)-( ( )

(
- (I, (B) - (IV), (C) - (IN), (D) - (
Options :

878270212873. 1
878270212874. 2

878270212875. 3
878270212876. 4

Question Number : 9 Question Id : 87827054078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - () (B) - (i) (C)-(IV) (D) -(I)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1) (B) - (IV) (C)- (i), (D) - (1)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - ()

Options:

878270212873. 1
878270212874. 2
878270212875.3

878270212876. 4

Question Number : 10 Question Id : 87827054079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Who among the following are prehistorians?

{A). Robert Bruce Foote

(B). Patterson

(C). H. H. Risley

(D). H. D. Sankalia

Choose the correct answer from the options given below:

1. (A), (C) and (D).
2. (B) and (C) only.
3. (A), (B), and (D)
4 (B), (C) and (D).

Options :

878270212877. 1
878270212878. 2
878270212879. 3

878270212880. 4

Question Number : 10 Question Id : 87827054079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. ®ad (A), (B), 3R (D)
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Options :

878270212877. 1
878270212878. 2
878270212879. 3

878270212880. 4

Question Number : 11 Question Id : 87827054080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Moraines are used to study:

1. Earthquakes

2. Glaciers

3. Rivers

4 Marine ecology

Options:
878270212881. 1

878270212882. 2 gcollegeduniaé
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878270212883. 3
878270212884. 4

Question Number : 11 Question Id : 87827054080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270212881. 1
878270212882. 2
878270212883. 3

878270212884. 4

Question Number : 12 Question Id : 87827054081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following pottery-wares are found in India?
{A). Rouletted Ware

(B). Painted Grey Ware

(C). Terrocotta Chinese Painted Ware

(D). Northern Black Polished Ware

Choose the correct answer from the options given below:

1. (A), (B) and (C).
2. (A), (B) and (D).
3. (A) and (C) only.
4. (B) and (C) only.

Options :

878270212885. 1
878270212886. 2
878270212887.3

878270212888. 4

Question Number : 12 Question Id : 87827054081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2 ®ad (A), (B) 3R (D)

3. ®ad (A) 3R (C)

4 ®ad (B) 3R (C)

Options :

878270212885. 1
878270212886. 2
878270212887.3
878270212888. 4

Question Number : 13 Question Id : 87827054082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following are correct?

(A). Black-and-Red Ware : Red inside upto the rim and black on the outer surface.
(B). Ashmound : It is a characteristic feature of Northwest Mesolithic culture.

(C). BP ; Before Present

(D). Core : A piece of stone from which flakes are removed by striking it.

Choose the correct answer from the options given below:

1. (A), (B) and (C).
2. (C)and (D) only.
3. (B), (C) and (D).
4 (A)and (B) only

Options :

878270212889. 1
878270212890. 2
878270212891. 3

878270212892. 4

Question Number : 13 Question Id : 87827054082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212889. 1
878270212890. 2
878270212891. 3

878270212892. 4

Question Number : 14 Question Id : 87827054083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term Holocene means:

1. lce Age

2. Solar spot

3. Entirely recent

4. Hollow perniod in human history

Options:
878270212893. 1

878270212894, 2 Qcollegedunias
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878270212895. 3

878270212896. 4

Question Number : 14 Question Id : 87827054083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eI et &1 Y &
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Options:

878270212893. 1
878270212894. 2
878270212895. 3

878270212896. 4

Question Number : 15 Question Id : 87827054084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following are megalithic types?

(A). Menhir

(B). Dolmen

(C). Burin

(D). Topi-kal

Choose the correct answer from the options given below:

1. (A) and (B) only
2. (A), (C)and (D).
3. (B), (C), and (D).
4 (A), (B)and (D)

Options :

878270212897. 1
878270212898. 2
878270212899. 3
878270212900. 4

Question Number : 15 Question Id : 87827054084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212897. 1
878270212898. 2
878270212899. 3
878270212900. 4

Question Number : 16 Question Id : 87827054085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following are true about Mesolithic rock art cufture in India?

(A). The earliest evidence of the presence of Mesolithic man in India was noted as early as 1667-66 by Mathpal
(B). The rock paintings in India were first discovered by A. Carlleyle

(C). First rock painting was on the walls and ceilings of rock shelter in Mirzapur

(D). Almost three-fourths of the total rock art sites in India are found in Vindhyas

Choose the correct answer from the options given below:

1. (A), (B), (C).
2 (D).
3 (C).
4
Options :
878270212901. 1
878270212902. 2
878270212903. 3
878270212904. 4

Question Number : 16 Question Id : 87827054085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270212901. 1
878270212902. 2
878270212903. 3

878270212904. 4

Question Number : 17 Question Id : 87827054086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following tool is/are not Geometric Microlith(s)?
{A). Lunates

(B). Triangles

(C). Trapezes

(D). Hand axes

Choose the correct answer from the options given below:

1. (A).

2. (A) and (C).

3. (D).

4 (A), (B) and (C).

Options :

878270212905. 1
878270212906. 2
878270212907.3

878270212908. 4

Question Number : 17 Question Id : 87827054086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.®ad (A)

2 &ad (A) AR (C)

3. ®4dd (D)

4. Had (A), (B) 3R (C)

Options :

878270212905. 1
878270212906. 2
878270212907.3

878270212908. 4

Question Number : 18 Question Id : 87827054087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bhimbetka rock shelter is located in which state?

1. Rajasthan

2. Madhya Pradesh
3. Gujarat

4 Assam

Options:
878270212909. 1

878270212910. 2 gcollegeduniaé
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878270212911. 3

878270212912. 4

Question Number : 18 Question Id : 87827054087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270212909. 1
878270212910. 2
878270212911. 3

878270212912. 4

Question Number : 19 Question Id : 87827054088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-ll

Geological Epoch

Approximate time (Before Present)

(A).Oligocene

(1). 95 million

(B). Pliocene (11). 12 million
(C). Eocene (l111). 35 million
(D). Miocene (IV). 25 million

Choose the correct answer from the options given below:

1. (A) -
2. (A)-
3. (A) -
4 (A)-

IV), (B) - (IlT), (C) - (In),
1), (B) - (IV), (C) - (1), (

— — S —

Options :

878270212913. 1
878270212914. 2
878270212915. 3
878270212916. 4

11T}, (B) - (1), (C) - (1), (D) -
1), (B) - (IN), (C) - (1), (D) -
(D) -
D) -

(IV})
(IV})
(1)
(11}

Question Number : 19 Question Id : 87827054088 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tat-1 3R -l e &3

-l Gicial
yrffagr (@ O F egafad g
(A) SHiferiiE|(1) 55 @@

(B) I (1) 12 & F
(CcyZefeT | 35 T
(D) TEEIRE |(1V) 25 @
T fer T et 5 3 98 SR o)

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A)- (1), (B) - (I), (C) - (1), (D) - (IV})
3. (A) - (IV), (B) - (111, (C) - (11), (D) - (1)
4 (A) - (1), (B) - (IV), (C) - (1), (D) - (Ill)

Options :

878270212913. 1
878270212914. 2
878270212915. 3

878270212916. 4

Question Number : 20 Question Id : 87827054089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of the following tool techniques from the earliest to latest.

1. Block - on - anvil technique < Grinding and polishing = Cylinder hammer technique < Pressure flaking
2. Grinding and polishing < Block - on - anvil technigue < Pressure flaking < Cylinder hammer technique
3. Block - on - anvil technique < Cylinder hammer technique < Pressure flaking < Grinding and polishing
4. Cylinder hammer technique < Block - on - anvil technique < Grinding and polishing < Pressure flaking

Options :
878270212917. 1

878270212918 2 @collegedunias

878270212919. 3 b



878270212920. 4

Question Number : 20 Question Id : 87827054089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEY U § TR A4 d el HH T |

2 IIEFET 3R Ui <sqi@-AH-T1a do-id <UIR i <ids gdisl don®
3 WNH-HA-TAGT do1® <[aist Uil db-1d <UTR TidT <TefaT AR i
4 THTS BUIST AP1® <& @-3H-TAa0 dB-1d <TRIST AR TR <UER Fifdd

Options :

878270212917. 1
878270212918. 2
878270212919. 3

878270212920. 4

Question Number : 21 Question Id : 87827054090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why is the Venus of Willendorf believed to be used as fertility cult?

1. It was found along side female skeletons.

2_ It had huge sagging breast, stetopygia and belly enlarged out of proportion.
3. The statue was found all over in all the dwelling sites

4. The statue is still being used by some primitive societies.

Options :

878270212921, 1 .
collegedunia:

878270212922. 2

~



878270212923. 3

878270212924. 4

Question Number : 21 Question Id : 87827054090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 f 57 <7 & 1 fac=ith & d99 &1 399 Weiad Uy & &9 | 531 9ar 22

1. Tg Higall baIal & I U741 41

2 3 faena e % uT, Refufom 9ieg o1, U MU 9 916X 961 g1 4T
3. Tg Hialy it Fag =i Ui s 4

4. 39 Ufafy o1 Iuai 3nft ot oo onfeH T gl AT @I 8

Options:

878270212921. 1
878270212922. 2
878270212923. 3

878270212924. 4

Question Number : 22 Question Id : 87827054091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l List-ll

Books Authors

(A). Prehistory and Protohistory in India and Pakistan  |(1). Allchin Bridget and Raymond Alichin

(B). Archaeology from the Earth (I1). Mortimer Wheeler

(C). The Rise of Civilisation in India and Pakistan (l1). D K. Bhattacharya

(D). An Qutline of Indian Prehistory (IV). H.D. Sankalia

Choose the correct answer from the options given below:

1. (A)- (1), (B) - (I1), (C) - (IlI), (D) - (V)

2. (A)-(V), (B) - (1), (C) - (1), (D) - (1)

3. (A)- (1), (B) - (I, (C) - (V), (D) - (1

4.(A)- (V). (B) - (1), (C) - (1), (D) - (1)
Options :

878270212925. 1
878270212926. 2
878270212927. 3
878270212928. 4

Question Number : 22 Question Id : 87827054091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tat-1 3R -l e &3

-l LAl

EIE] [N{EEH

(A) et Us dreifewl 57 3fsan us wifewm (1) sitaf fooe ofR s sfaRA
(B) sHfcarra Wi af a7 () FfER e

(C) Tt s i fafaams oy 57 2 s witssam|on) St &, werad
(D) T HSeas 3% Sioa- Hiew! (IV) T9. S1. Tigiermn
1 e U Tt 7 § 91 OR 971

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV})

2. (A) - (IV), (B) - (1), (C) - (11}, (D) - (li1)

3. (A) - (D), (B) - (1), (C) - (IV), (D) - (li1)

4 (A) - (IV), (B) - (I), (C) - (1), (D) - (li1)

Options :

878270212925. 1
878270212926. 2
878270212927. 3

878270212928. 4

Question Number : 23 Question Id : 87827054092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following isfare true about Kalibangan site?
(A). Itis located in Tamil Nadu

(B). A ploughed field was discovered at Kalibangan

(C). It is located in Rajasthan

(D). Found in the Rift valley

Choose the correct answer from the options given below:

1. (B) and (C) only.
2.(B), (C) and (D) .

3. (A) and (D) only.

4. (A), (B) and (D) only.

Options :

878270212929. 1
878270212930. 2
878270212931. 3

878270212932. 4

Question Number : 23 Question Id : 87827054092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



FEfEEd 5 9 ®H-9/" SisE ®d © ) H T8 857
(A) T8 dfffarg & R B

(B) BTHETH H U S[dTs dlcl Wd &I Gl DI TS|

(C) U5 Tory H U 5

(D) Rue ardt & urn S B

=td fau e fadedl & ¥ 981 SR 4|

1.%ad (B) 3R (C)
2 (B), (C) 3R (D)
3. &ad (A) 3R (D)
4. ®ad (A), (B) 3R (D)

Options :

878270212929. 1
878270212930. 2
878270212931. 3

878270212932. 4

Question Number : 24 Question Id : 87827054093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Neolithic sites is located on the banks of River Ghaghra in Bihar?

1. Daojali Hading
2. Burzahom

3. Chirand

4. Chopani-Mando

Options:
878270212933. 1

878270212934, 2 Qcollegedunias

~



878270212935. 3
878270212936. 4

Question Number : 24 Question Id : 87827054093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A

Fofafied § 9 ©F 91 79U ¥ [98R H 9Tl ¢l @ dc 1= T g2

0 L
%’r
EaliE
o

T
g
A L=

o S e
:
A

Options:

878270212933. 1
878270212934. 2
878270212935. 3

878270212936. 4

Question Number : 25 Question Id : 87827054094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT part of a cell?

1. Nucleus

2. Protoplasm
3. Germplasm
4 Cytoplasm

Options :

878270212937. 1 gcollegedunias

~

878270212938. 2



878270212939. 3
878270212940. 4

Question Number : 25 Question Id : 87827054094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafed & 9 o1 U IR & YF 7ol 8?2

1. gfaaay
2 UleIeed
3. SHEeq
4. Orsaieey

Options:

878270212937. 1
878270212938. 2
878270212939. 3

878270212940. 4

Question Number : 26 Question Id : 87827054095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following are correct about Lamarck's theory of evolution?
(A). Acquired characters are inherited by the offspring.

(B). Survival of the fittest.

(C). Organs are modified or rudimentary organs are formed due to use and disuse.
(D). Organisms change due to inbreeding.

1. (A) and (C) only.
2. (A), (B) and (C).
3. (B), (C) and (D).
4 (B)and (D) only.

Options :

878270212941. 1
878270212942. 2
878270212943. 3

878270212944. 4

Question Number : 26 Question Id : 87827054095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofafEd & § $H-91 4910 & e & Rigid & aR | T8 82

(A) 3ifold U OaH gRI1 favrad & Ui fd 9 8 |

(B) &Y T &1 Jrieilfad|

C) 3i7 WY 1 2AcfaPiyd 21 8ld § ol SUgH 3R SUGN 9 $ & PR §d ¢ |
D) 3dR® U4 & HRUI oiid dad oid &

1. dad (A a?r{'
2 &ad (A ern?[m
3 &dd (B ( C) 3R (D)

4. &qd (B) and (D) @collegeduniag

~



Options :

878270212941. 1
878270212942. 2
878270212943. 3

878270212944. 4

Question Number : 27 Question Id : 87827054096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following inspired Charles Darwin's work on evolution?

1. Hooker

2. Koenigswald

3. Karl Landsteiner
4 Thomas Malthus

Options :

878270212945. 1
878270212946. 2
878270212947.3
878270212948. 4

Question Number : 27 Question Id : 87827054096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Fofafea 7 9 foaa sifd & uia f&ar

1. g

2 DS
3. @A A8
4. o9 Ord

Options :

878270212945. 1
878270212946. 2
878270212947.3
878270212948. 4

Question Number : 28 Question Id : 87827054097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the advantages of using blood as a genetic marker?
{A). They arose quite early during human evolution

(B). Blood groups can be easily distinguished

(C). Can be easily altered by environment

(D). Frequency is stable in a population

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), and (C) only.

3. (C) only

4 (B), (C) and (D).

Options:
878270212949. 1

878270212950. 2 :
Qcollegedunlas

878270212951. 3 =



878270212952. 4

Question Number : 28 Question Id : 87827054097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAIE® Gbad & &0 § ad & SUGRT & &1 ary 82

(A) d HFd fadTH & SR SIh! Ugd 3dd gu Ul

(B) Y& THE! B! ! € UgaHl & Tl & |
(C) Talawvl §RI YT § 95l o 9&dl &

(D) 3TaTe! H g R gidl 3

-Td feu e fadbedl & ¥ ¥gl IR g |

1. ®ad (A),
2. &Had (A
3. &Had ( )
4. @dd (B), (C) 3R (D)

(B‘laﬂ?fD]
GW_IC\

et

o

Options :

878270212949. 1
878270212950. 2
878270212951. 3

878270212952. 4

Question Number : 29 Question Id : 87827054098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



A father with O+ and mother with B+ blood group can have children with following blood groups types.

1. Blood group B only

2. Blood groups A, Band O
3. Blood group B and O

4. Blood group O only

Options :

878270212953. 1
878270212954. 2
878270212955. 3

878270212956. 4

Question Number : 29 Question Id : 87827054098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0+ a7 fiieT 3R B+ a3 Tg aeh Hf & ¥ad 9g A1 o= Fgfeied & § 0 OE $ 81 99 2

1. a3 UE B
2 WK TE A BHR O
3 YR TGE B AR O
4. e Xl T8 O

Options:

878270212953. 1
878270212954. 2
878270212955. 3

878270212956. 4

Question Number : 30 Question Id : 87827054099 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1 g

collegedunia:
Minimum Instruction Time: 0

~



Correct Marks : 4 Wrong Marks : 1

Inborn error of metabolism due to chromosomal aberration leading to Edward's Syndrome is caused by which condition?

1. Trisomy 13
2. Trisomy 21
3. Trisomy 18
4 XXY

Options :

878270212957. 1
878270212958. 2
878270212959. 3

878270212960. 4

Question Number : 30 Question Id : 87827054099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URGA fadcH & SR TUIYTY &) SHuld Fic 9 51 dicll Usde RigHH bl SfaRy @ &Rl Bldl 82

1. TrEHt 13
2. T3 21
3. ot 18
4. XXY

Options:

878270212957. 1
878270212958. 2
878270212959. 3

878270212960. 4

gcollegedunias

Question Number : 31 Question Id : 87827054100 Question Type : MLy < puives criviiinny « 1w



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The two types of RNA involved in protein synthesis are:

1. mRNA and tRNA
2. mRNA and siRNA
3. siRNA and gRNA
4 tRNA and gRNA

Options :

878270212961. 1
878270212962. 2
878270212963. 3

878270212964. 4

Question Number : 31 Question Id : 87827054100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UidH 9z & Iid I PR & RNA &

1. mRNA 3R tRNA
2. mRNA 3R siRNA
3. siRNA 3 gRNA
4 tRNA 3R gRNA

Options :
878270212961. 1
878270212962. 2

878270212963. 3

878270212964. 4
collegedunia:

~



Question Number : 32 Question Id : 87827054101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-ll

List-l List-ll

(A). Heterozygous (1). An individual having two copies of different alleles

(B). Completely dominant|(ll). The allele that masks the effect of the other allele

(C). Sex linked (I11). Baldness

(D). Sex limited (IV). Beard, Moustache

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (I1), (C) - (1), (D) - (IV)

2. (A) - (IV), {B} (1), (C) - (1), (D) - (1)

3. (A)- (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A)- (1), ( B (IV), (C) - (1), (D) - (1lT)
Options:

878270212965. 1
878270212966. 2
878270212967. 3

878270212968. 4

Question Number : 32 Question Id : 87827054101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Tat-1 3R -l e &3

-l -l

(A) BRIWTSTE  |(I) U oufad forges & U@ 61 WoR & gEfasd &
(B) guid: TR (11) Ueiter ot Y Uelia & WHIG &1 Gl &

(c) TmafdEkm  |qn) e

(D) e st |ov) e, 58

T RTm e S TE SR I

1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (IV), (B) - (1), (C) - (1), (D) - ()
3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}

Options :

878270212965. 1
878270212966. 2
878270212967. 3
878270212968. 4

Question Number : 33 Question Id : 87827054102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the correct sequence in Mitosis?

1. Metaphase - Prophase - Telophase - Anaphase
2. Prophase - Metaphase - Anaphase - Telophase
3. Prophase - Anaphase - Telophase - Metaphase
4 Anaphase - Metaphase - Prophase - Telophase

Options :
878270212969. 1

878270212970. 2

878270212971. 3 gcollegedunias

~



878270212972. 4

Question Number : 33 Question Id : 87827054102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & ¥ Argeifay § 9el siHH w1 82

ATt M-S el G
 HhH-HeTb - TTb - ol
: H'::;'}'g'-Q"HUTﬁ-dﬁwm“.—'dmﬁm

TTh-HeTh oAb w-c Al

A o

Options :

878270212969. 1
878270212970. 2
878270212971.3

878270212972. 4

Question Number : 34 Question Id : 87827054103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a force of evolution?

1. Mutation

2. Natural Selection
3. Genetic drift.

4. Overpopulation

Options :

878270212973. 1 .
collegedunia:
878270212974. 2

~



878270212975. 3

878270212976. 4

Question Number : 34 Question Id : 87827054103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁmﬁﬁ# d’:;lt—. i_I:‘_,C'"j g f Q!PCF;I Fﬁﬁ%’?

1. AR

2. UTipidd 99

3. SMTIdifRI® fageH
4 3fYEH AETG

Options:

878270212973. 1
878270212974. 2
878270212975. 3

878270212976. 4

Question Number : 35 Question Id : 87827054104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l List-lI

Characteristic Organ
(A). Stereoscopic (). Penis
(B). Pendulous (II). Eyes

(C). Pectoral in position |(111). Limbs

(D}). Prehensile {IV). Mammary glands

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (I, (B) - (1), (C) - (IV), (D) - (1T}

4. (A)-(IV), (B) - (IN, (C) - (1), (D) - (1IT)
Options :

878270212977. 1
878270212978. 2
878270212979. 3
878270212980. 4

Question Number : 35 Question Id : 87827054104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Tat-1 3R -l e &3

-l IRl
RG] 3

(A) ElgRRiks (1) =y

(B) Ugarad EEIEE]

(C) Rl & deera|an) s

(D) Hie—asa (1V) =57 S

Ty iea 7 s oR o

1..(A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (IlT), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (IV), (B) - (IN), (C) - (1), (D) - (11}

Options:

878270212977.1
878270212978. 2
878270212979. 3

878270212980. 4

Question Number : 36 Question Id : 87827054105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT an anatomical change for bipedalism?

1. Presence of linea aspera

2. Presence of four curves in the vertebral column

3. Supra-orbital ridge becoming less prominent

4 Lateral expansion of thorax in relation to anterio-postenor depth

Options :

878270212981. 1 @collegedunias

878270212982. 2 b



878270212983. 3

878270212984. 4

Question Number : 36 Question Id : 87827054105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad 7 9 319 9 fguredl & T I’ifte uRadq 121 2

1. Terf-rar v &1 Juffa

2 HIEH| WY T IR 9| B IURYTT

3. guI-3Hiided el &8 U eidl &7 @l

4 3FAPI-uYad Teds & Yau § g&f &1 urfa fawR

Options:

878270212981. 1
878270212982. 2
878270212983. 3

878270212984. 4

Question Number : 37 Question Id : 87827054106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the dental formula of the Old world monkeys?

1.:21:2:3
2232
32722
4.-2-1:1:3

Options : .
collegedunia:
878270212985. 1

~



878270212986. 2
878270212987. 3

878270212988. 4

Question Number : 37 Question Id : 87827054106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R GG & 9631 BT Gd 93 &1 82

s M B S
Ll S
32122
421213

Options:

878270212985. 1
878270212986. 2
878270212987.3

878270212988. 4

Question Number : 38 Question Id : 87827054107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-ll

Hominids

Discovery

(A). Homo erectus javanensis

(). Arun Sonakia

(B). Australopithecus africanus

(I1). Robert Broom

(C). Homo erectus narmadensis

(lIl). Eugene Dubois

(D). Australopithecus robustus

(IV). Raymond Dart

Choose the correct answer from the options given below:

1. (A) -
2. (A)-
3. (A) -
4 (A)-

V), (B) - (Il1), (C) - (1), (
1), (B) - (1), (C) - (IV), (
1), (B) - (IN), (C) - (1), (D
|

— — S —

Options :

878270212989. 1
878270212990. 2
878270212991. 3
878270212992. 4

D) - (1)
D) - (1)
)-(IV)

)

1), (B) - (IV), (C) - (1), (D) - (Il

Question Number : 38 Question Id : 87827054107 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks

01

gcollegedunias

~



Tt - B gt -l gl Sife

- -l

(A) §1HT SigeT aHTaT (1) HOU S
(B) SCelifUdae splaa(l) Tae 59

(C) E181 S¥Few FHeHIEW |(I1) Ioi gaTsg
(D) HTETiUsg dFeT |(IV) THS S1e

Ty miea 7w oR

1. (A) - (IV), (B) - (1), ch (D) - (1)
2. (A)- (I, {E!I‘-fIII} (C) - } D) - (1)
3. (A)-(1), (B)-(I), (C) - {III:| (D) - (IV)
4. (A) - (I, (B) - {w;u (C) - (1), (D) - (11)

Options:

878270212989. 1
878270212990. 2
878270212991. 3

878270212992. 4

Question Number : 39 Question Id : 87827054108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Culture is defined as an ‘instrumental reality, and apparatus for the satisfaction of the biclogical and derived need” by:

1. Kluckhohn
2. Malinowski
3. Herskovits
4 Harris

Options :
878270212993. 1

878270212994. 2 @collegedunias

878270212995. 3 N



878270212996. 4

Question Number : 39 Question Id : 87827054108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TpIcl Bl "oifdd AR I R 31 UP o oL U e arReiiddhal iR SUST o& © H Uit fosa an &:

[

1. KDEM
) HieHwm!
3. HPIIeY
4.3R9

Options :

878270212993. 1
878270212994. 2
878270212995. 3

878270212996. 4

Question Number : 40 Question Id : 87827054109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s known to possess 'Disharmonic Face-skull'?

1. Grimaldi man

2. Cro-magnon man
3. Chancellade man
4 Java man

Options :

878270212997. 1 .
collegedunia:
878270212998. 2

~



878270212999. 3

878270213000. 4

Question Number : 40 Question Id : 87827054109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EaHie GY-&pd & 1T g SHT Sl 82

1. BEE 89
2 BT 89
4 Srar 84

Options:

878270212997. 1
878270212998. 2
878270212999. 3

878270213000. 4

Question Number : 41 Question Id : 87827054110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which vertebral bone articulates with the base of the skull?

1. Thoracic
2. Lumber

3 Atlas

4 Coccyx

Options : .
collegedunia:
878270213001. 1

~



878270213002. 2
878270213003. 3

878270213004. 4

Question Number : 41 Question Id : 87827054110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS & YR b Y B G PSS! 55 ISl 22
1. URR®
2. THER

3 U2y
4 Hicdiag

Options:

878270213001. 1
878270213002. 2
878270213003. 3

878270213004. 4

Question Number : 42 Question Id : 87827054111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



How did the Neanderthal man possibly disappear?

{A). Due to catastrophic meeting with more advanced Homo sapiens
(B). Transformed into Homo sapiens due to environmental pressure
(C). Due to severe cold during glaciation

(D). Due to pluviation

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (A) and (C) only.
3. (A) and (B) only
4 (B), (C) and (D).

Options :

878270213005. 1
878270213006. 2
878270213007. 3

878270213008. 4

Question Number : 42 Question Id : 87827054111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



FAUSIYd ACH 9™ ad: &Y a4 8 47?2

(A) 3T Iad oid BfUgw & 91 fAeaR! i & aR
(B) ggfaitg gard & RO em Afg—g § ufiafda

(C) BHET & R AT 38 & BRUI

(D) WfAURH & BRI
I feu e fasedf § © T8 SR |

1.®ad (A), (B) 3R (C)
2 @ad (A) AR (C)
3. &ad (A) AR (B)
4. @dd (B), (C) 3R (D)

Options :

878270213005. 1
878270213006. 2
878270213007. 3
878270213008. 4

Question Number : 43 Question Id : 87827054112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How is the Human head uprightly well-balanced?

1. Due to the absence of supra-orbital ridges

2. Due to prognathism

3. Due to the presence of prehensile tail

4 Due to the centrally placed foramen magnum

Options:

8782702130009, 1
878270213010. 2 @collegedunlas

~



878270213011. 3

878270213012. 4

Question Number : 43 Question Id : 87827054112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 IR o=l ae 9 Udied &Y 82

1. gR-3ifded Geml &I UG & SR
2. Jeeddl (WFHIYSH) & BRI

3. Hie—ursd Us &1 JURYMd & SRl

4. HET Y Y IW T BRES 79 & RO

Options:

878270213009. 1
878270213010. 2
878270213011. 3

878270213012. 4

Question Number : 44 Question Id : 87827054113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is/are the only movable bone of the skull?

- Mandible

- Mandible and maxilla
_ Styloid process

- Occipital bone

L

Options :

878270213013 1 gcollegedunias

~

878270213014. 2



878270213015. 3

878270213016. 4

Question Number : 44 Question Id : 87827054113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S &1 UHHE 99 851 P Ul 2re?

1. Higagq

2 Hfedd 3R Afdaa

3. W3dlgs Wikl
4. JHiFEiUerd gl

Options:

878270213013. 1
878270213014. 2
878270213015. 3

878270213016. 4

Question Number : 45 Question Id : 87827054114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is correct about human skeleton?

- Human skeleton has 208 bones.

~ The human skull usually consists of 22 bones.
- The humerus is the longest bone.

- Scapula is a part of the pelvic girdle.

L

Options :

878270213017. 1 gcollegedunias
878270213018 2 i



878270213019. 3
878270213020. 4

Question Number : 45 Question Id : 87827054114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
M4 $oia & aR § FufaRed 3 ¥ oF W $YF T8l 82

1. 44 thebIa H 208 B4l il &

2 {9 WUS! H IR R 22 gfeaf gidl 2
3. BgFYY 94 od 851 B

4 Hal Y10 TEa &I Us R B

Options:

878270213017. 1
878270213018. 2
878270213019. 3

878270213020. 4

Question Number : 46 Question Id : 87827054115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How does the human body attain genetic potentials completely after nutritional insult?

1. Occurence of Catch-up growth.
2. Occurence of Secular trend.

3. Through adolescent growth spurt.
4 Through wasting in the body

Options :

878270213021. 1 gcollegedunias
878270213022. 2 i



878270213023. 3

878270213024. 4

Question Number : 46 Question Id : 87827054115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHId 4Nl & §1¢ B4 YRR T3 a8 U a1 &Hdl dd Uk Hdl 82

1. ©9-3(U gig DI gl

2 YHFRUE Yafi B1 g

3. [PRERT & faerm o ool & Tremg 4
4 TR Y AUy & A1gg 4

Options:

878270213021. 1
878270213022. 2
878270213023. 3

878270213024. 4

Question Number : 47 Question Id : 87827054116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a Mongoloid feature in terms of Racial Classification?

1. Presence of progathism.

2. Coarse straight hair.

3. Epicanthic eyefold and brachycephalic head.
4 Yellow or yellowish-brown skin colour

Options : .
collegedunia:
878270213025. 1

~



878270213026. 2
878270213027. 3

878270213028. 4

Question Number : 47 Question Id : 87827054116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafelad # 9 oI a1 cfia Fifeo & de 7 Hifemars fe=iwar 781 87

1. WATfddTg &t Jufyfd
3. TUd A® b 3R Joubiad MY
4 HicT 1 UIeT- 431 &l & 3

Options:

878270213025. 1
878270213026. 2
878270213027.3

878270213028. 4

Question Number : 48 Question Id : 87827054117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-lI

Culture revealed at Kayatha

Time Period

(A). Kayatha culture

(I). Ca. 1950-1700 BC

(B). Ahar culture

(I). Ca. 2450-2000 BC.

(C). Malwa culture

(). Ca. 1700-1400 BC

(D). Early Historic

(IV). Ca. 600 BC-200 BC

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (I1), (C) - (Im), (D) - (IV)

3. (A) - (IV), (B) - (1), (C) - (I, (D) - (1IT)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

878270213029. 1
878270213030. 2
878270213031. 3
878270213032. 4

Question Number : 48 Question Id : 87827054117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tat-1 3R -l e &3

-l Licial
HIYT H YEHd &1 Gardl g9y 3afy
(A) HTIYT G5Bl (1) T T 1950-1700 & &1
(B) 3B H&Hid (1) 5T € 2450-2000 &f S
(C) HICTal Y&l (1) ¥t € 1700-1400 st =
(D) WIS tiaeias (V) S T 600 &1 H1-200 & &1
T ey T A 3 98 SR
1. (A) - (11}, (B) - (), (C) - (ll1}, (D} - (IV)
2. (A) - (1), (B) - (1), (C) - (11}, (D) - (IV)
(D) - (11}

3. (A) - (IV), (B) - (1), (C) - (1),
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - ()

Options:

878270213029. 1
878270213030. 2
878270213031. 3

878270213032. 4

Question Number : 49 Question Id : 87827054118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Race formation is a complex process where several factors are involved. These may be:
(A). Dermatoglyphics

(B). Mutation

(C). Natural selection

(D). Genetic Drift

Choose the correct answer from the options given below:

(B) and (C).

(C) and (D).

(B), (C)and (D).
0

Options :

878270213033. 1
878270213034. 2
878270213035. 3

878270213036. 4

Question Number : 49 Question Id : 87827054118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



T (worta) Hai ue wifeq uisar & forgs @ oR® IHd eid &l T 8 99d o

(A) SHERASha

(B) FRacH

(C) Wi TT-

(D) Al yare

H12 fou e faeedl § J 98 IR

1.%ad (A), (B) 3R (C)

2 ®dd (B), (C) AR (D)

3. &ad (A), (B), (C) 3R (D)
4. &4d (D)

Options :

878270213033. 1
878270213034. 2
878270213035. 3

878270213036. 4

Question Number : 50 Question Id : 87827054119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why is BMI assessed?

1. To asess morbidity.

2. To assess biological age.

3. To assess nutritional status.

4 To assess reproductive health.

Options:
878270213037. 1

878270213038. 2 Qcollegedunias

~



878270213039. 3
878270213040. 4

Question Number : 50 Question Id : 87827054119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dITH3TS BT Hegich- &l a1 oIl 52

2. Sifdss HIG BT Hiba B & (U
3. Oryoy e Rufd &1 s & & fau
4 o ARy B e HiH & o

Options:

878270213037. 1
878270213038. 2
878270213039. 3

878270213040. 4

Question Number : 51 Question Id : 87827054120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Why is Man considered to be more evolved than Apes?
(A). Larger brain size in relation to the body weight

(B). Articulating speech

(C). Bipedalsim

(D). Teeth adapted for mixed diet

Choose the correct answer from the options given below:

1. (A), (B) and (D).
2. (A), (B)and (C)
3. (B) and (C) only.
4 (A), (C) & (D).

Options :

878270213041. 1
878270213042. 2
878270213043. 3

878270213044. 4

Question Number : 51 Question Id : 87827054120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



% &1 aF-RI D1 a1 5 SHfee fasiad oaf 31 ird 82

(A) TRR & doF & TaY H ARTSH T 951 BN
(B) YISO Sad &l
(C) SIFUSIeeH

(D) T3 2meR & Y @ fed gfd

=td fau e fadedl & ¥ 981 SR 4|

1.®ad (A), (B) 3R (D)
2 @ad (A), (B) IR (C)
3. ®4dd (B) AR (C)

4. @dd (A), (C)3R (D)

Options :

878270213041. 1
878270213042. 2
878270213043. 3

878270213044. 4

Question Number : 52 Question Id : 87827054121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-ll

Statistical measure

Statistical tast

(A). Non-normal distribution

(1). Kolmogrov-smirnov's Test

(B). Central Tendency

(11). Standard Deviation

(C). Normal Distribution

(111). Chi square test

(D). Dispersion

(IV}). Mean, Median, Mode

Choose the correct answer

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options :

878270213045. 1
878270213046. 2
878270213047.3
878270213048. 4

from the options given below:

Question Number : 52 Question Id : 87827054121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tat-1 3R -l e &3

-l -l

(A) TR-TmrT a1 FreEwe-Rae wem
(B) Huig Hafd (1) B o

(C) T fAawar  |(I1) Fs-a9 TEm

(D) Tremma (v) d4. difsg=. A
-d fu TTe fadedl § © 98! 3R |
1. (A) - (1), (B) - (I, (C) - (11}, (D) - (IV)
2. (A)- (D), (B) - (l1), (C)- (), (D) - (IV)
3. (A)- (D), (B) - (1), (C) - (IV), (D) - (11
4 (A)- (I, (B) - (IV), (C) - (1), (D) - (I)

Options :

878270213045. 1
878270213046. 2
878270213047.3
878270213048. 4

Question Number : 53 Question Id : 87827054122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who propounded the Law of cultural development expressedasE x T = C?

where E is Energy, T is Technology and C is Cultural development

1. EB. Tylor

2. L.H. Morgan
3. Julian Steward
4 Leslie White

Options :

878270213049. 1 @collegedunias

878270213050. 2 b



878270213051. 3
878270213052. 4

Question Number : 53 Question Id : 87827054122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ExT=C® ] H I Ypidd fabrd & HaH & Widue feu- fdar

W&l 3 Sl &, o Uit & ofR O g fas faea &

1.3 ol @R
4 Il @13e

Options:

878270213049. 1
878270213050. 2
878270213051. 3

878270213052. 4

Question Number : 54 Question Id : 87827054123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-I List-I

Basic needs Cultural Response
(A). Reproduction (). Shelter

(B). Safety (I1). Hygiene

(C). Body comforts (111). Kinship

(D). Health (IV). Protection

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options :

878270213053. 1
878270213054. 2
878270213055. 3
878270213056. 4

Question Number : 54 Question Id : 87827054123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tat-1 3R -l e &3

g -l

(A) FE=T (1) 13T
(B) TR& (1) TT=sal
(C) TR & RME|(Ill) e
(D) TaT=a (IV) F919

- feu e famedl § 9§ 981 o) I |

1. (A=, B) =, (€)= {|||:|
2 (A) - (D), (B) - |||} {C} (1),
3. (A) - (D), (B) - J—{IVJ
4 (A) - (1D, (B) - {w;u (C) - (I

(D) - (IV)
(D} (V)
(D) - (11)
), D}-l‘.“}

Options:

878270213053. 1
878270213054. 2
878270213055. 3

878270213056. 4

Question Number : 55 Question Id : 87827054124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Match List-l with List-ll

List-l List-lI
School of Thought MName
(A). British Evolutionary School  |(1). E.B. Tylor

(B). American Evolutionary School

(). L. H. Morgan

(C). American Neo-Evolutionist

(l11). A. Bastian

(D). German Evolutionist

(IV). Julian H. Steward

Choose the correct answer from the options given below:

1. (A) - (), (B) - (I), (C) - (1), (D) -
2. (A) - (1), (B) - (IlT), (C}- (I, (D) -
3. (A) - (1), (B) - (IN), (C) - (IV), (D) - (IN
4. (A) - (I, (B) - (IV), (C) - (1), (D)

Options :

878270213057. 1
878270213058. 2
878270213059. 3
878270213060. 4

(IV
(IV

i gt mg® g

- (Il

Question Number : 55 Question Id : 87827054124 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tat-1 3R -l e &3

-l LAl

fqaR @1 faaw™ GlE:

) Bem o =T (1) s &t TR
(B) e SaTeaE=R T a|(1) TS OF A
(C) 3H®! Fo-Aemanl  |(I) . Sieead
(D) 5 faeTard! (V) St e, 2as
e T et 7 @ 98 IR I
1_(A) - (1), (B) - (II), (C) - {|||:| (D) - (IV)
2. (A) - (1), (B) - |||} (C)- (11, (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (V). (D) - (Ill)
4 (A)- (), (B) - {WH ) - (1), (D) - (11}

Options:

878270213057. 1
878270213058. 2
878270213059. 3

878270213060. 4

Question Number : 56 Question Id : 87827054125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Kinship, the person of reference is known as:

1. Ego

2. Couvade

3. Phratry

4 Avunculade

Options :

878270213061. 1

878270213062. 2
878270213063. 3 @ collegedunias

~



878270213064. 4

Question Number : 56 Question Id : 87827054125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Adert 8 dey sfdd @i 59 0 F 9F1 9l B

1_§ﬁﬁ

2 Pdls
3.0

4. '3 a;fjifﬂ-a

Options :

878270213061. 1
878270213062. 2
878270213063. 3

878270213064. 4

Question Number : 57 Question Id : 87827054126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In terms of degree of kinship, your sister's husband is your:

- Primary kin; Affinal kin

. secondary kin; Affinal kin

_ Tertiary kin ; Consanguinal Kin
. Primary kin; Consanguinal Kin

B A o

Options :
878270213065. 1

878270213066. 2 gcollegedunias
878270213067. 3 )



878270213068. 4

Question Number : 57 Question Id : 87827054126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jrderil @f fedft & ded & anust 989 @1 ufd 3T &

i

1. UTfE® AdaR; JAHhad Aar
2 Teda® AdaR; JHfhd AdaR
3. Jalg® AIdeR; Jadaieo] G644 Adar
4 UTIIHT Tidar; aadlied] 98¢ AdaR

Options :

878270213065. 1
878270213066. 2
878270213067. 3
878270213068. 4

Question Number : 58 Question Id : 87827054127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l Listl

Terms Definition

(A). Avunculocal (I). Awidow marries deceased husband's brother

(B). Levirate (Il). Marriage out one's own social group

(C). Polyandry (llt). Couples live with or near the husband's mother's brother
(D). Exogamy (IV). One woman marries two or more men

Choose the correct answer from the options given below:

1. (A)- (1), (B)- (1), (C) - (Im), (D) - (IV)

2.(R)-(1), (B)- (I, (C)- In), (D) - (V)

3.(A)-(1), (B)-(IN), (C)- (IV), (D) - (i

4.(A)- (1), (B)- (1), () - (IV), (D) - (I
Options :

8782702130609. 1
878270213070. 2
878270213071. 3

878270213072. 4

Question Number : 58 Question Id : 87827054127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tat-1 3R -l e &3

SEiE kil
=T BEeTE)

(A) S TIT(1) T fear 5a ufey & HTS § =l Bl &

(B) Gfdke (11) 39 T8 & TEIS 3G 9 (9918 B
(C)sgdfam@  |(n) gufc ol &t /T & WIS & 91 91 39 919 I6d &
D)afefdae  |(1v) T After &t a1 oifis gost I et el &
-d fu TTe fadedl § € 98! 3w |

1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (1), (B) - (Il1), (C) - (1), (D) - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (), (B) - (1), (C) - (IV), (D) - (1)

Options :

878270213069. 1
878270213070. 2
878270213071.3

878270213072. 4

Question Number : 59 Question Id : 87827054128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT the function of a family?

1. Sexual

2. Reproductive

3. Economic

4 Transport and Communication

Options :
878270213073. 1

878270213074. 2 @collegedunias

878270213075. 3 b



878270213076. 4

Question Number : 59 Question Id : 87827054128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafEd o O o991 ufar &1 & 98 22

1. 419 ddy
2. g""’ '-I'_"'c. LY
3. It

4. figed 3R 99r

Options :

878270213073. 1
878270213074. 2
878270213075. 3
878270213076. 4

Question Number : 60 Question Id : 87827054129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following are correct?

(A). Edmund Leach was an American social anthropologist.

(B). Rousseau described the Indians as ‘noble savage’ of the golden age of natural man.
(C). Montesquieu published his Esprit des Lois, based on reading and not on travel.

(D). Some people call Herodotus ‘the father of Anthropology’.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B)and (C) only.
), (C) and (D) only
)an

d (D) only.

3.(B
4 (C)

Options :

878270213077. 1
878270213078. 2
878270213079. 3

878270213080. 4

Question Number : 60 Question Id : 87827054129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



[ r

FofoaRad # © &9 91 961 82

(A) USHE od U SRS GrHfid Aaias 41

(B) &I 3 YRG! & Wi T8 & W01 1 & HeH SiTar & wq § gifd faan

(C) TR 7 U1 UfBIe 39 Ay USRI &1, 9 Ugd W 1R 4t 7 & gmr i

(D) BB Tl gASIey & 4 fagH &1 oF® Hed ol
d fdu 7 fadpedf § ¥ 98 SR |

1. &ad (A), (B) 3R (D)
2 &ad (A), (B) IR (C)
3. %ad (B), (C) 3R (D)
4 &4d (C) 3R (D)

Options :

878270213077. 1
878270213078. 2
878270213079. 3

878270213080. 4

Question Number : 61 Question Id : 87827054130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Which of the following statements are NOT correct?

(A). James Frazer classified magic into homeopathic and contagious.
(B). "Animatism" was named after mana by R. R. Marett.

(C). The term "animism” was coined by E. B. Tylor.

(D). Animatism means belief in worldly things.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B), (C) and (D) only
3. (A) and D only.

4 (A), (C)and (D) only

Options :

878270213081. 1
878270213082. 2
878270213083. 3
878270213084. 4

Question Number : 61 Question Id : 87827054130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Fofafad ¥ O &4 9/ &Y 9l 1ol 87

(A) S ThoR | Siig @l Graide R b H Fiigd [Bdll

(B) "UFHES BT M 3R, 3R, 7Y §RI A & 919 G @1 7147 o7

(C) TR Teg 3. &1 TTIR R TGl 7147 UT|
(D) THHESH @1 31 B FiRe 9=l | faym)
=td fau e fadedl & ¥ 981 SR 4|

1. dad (A), (B) 3 (C)

2. ®ad (B), (C) IR (D)

3. ®ad (A) R D
4 ®Had (A). (C) 3R (D)

Options :

878270213081. 1
878270213082. 2
878270213083. 3
878270213084. 4

Question Number : 62 Question Id : 87827054131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



According to Max Weber, which of the following are 'Categories of power'?
{A). Religious authority

(B). Legal authority

(C). Traditional authority

(D). Charismatic authority

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (C) and (D) only
4 (B), (C)and (D) only

Options :

878270213085. 1
878270213086. 2
878270213087. 3

878270213088. 4

Question Number : 62 Question Id : 87827054131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



A deRk & UR, FgfaRad & 9 &F 9t =i &t 4ot 22
(A) HTiE® TSR

(B) BT AT

(C) TRUR® UIHT

(D) BRATS WIS

=td fau e fadedl & ¥ 981 SR 4|

1. @ad (A). (B) 3R (D)

2 ®ad (A), (B) 3R (C)

3. ®ad (A). (C) 3R (D)

4 ®ad (B), (C) 3R (D)
Options :

878270213085. 1
878270213086. 2
878270213087. 3

878270213088. 4

Question Number : 63 Question Id : 87827054132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Arrange the following scheme of development of human societies based on the socio-economic and political-religion
parameters in correct sequence.

(A). The Tribe

(B).The Band

(C). The State

(D).The Chiefdom

Choose the correct answer from the options given below:
B). (
(C),
(A)
.(B)

L]

(D)
(A).
il
A

A), (), (C)

(C), (B),
(D)
(A)

L
(]

)

!
]
!

C)

=
=

A
4
.(
A

I e

,(A), (D)
Options :
878270213089. 1
878270213090. 2
878270213091. 3

878270213092. 4

Question Number : 63 Question Id : 87827054132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



C '

o A AR e o-4H FUEs! & MR R A GA & oo § Hefiad &1 98 %1 4 oaid &1
(A) STl

(B)d8

(C) T

(0) e

i T e oo & € W SR

(o]

A (

B), (
C).(
A). (D

D)

. ). {

) ), (A)
). {
),

!

v

)
(D)

!
]
/

C)

o
[9p]

B), (A), (

!
A
|
i

I e R e R

ik
A
il
Options :

878270213089. 1
878270213090. 2

878270213091. 3

878270213092. 4

Question Number : 64 Question Id : 87827054133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



According to Dalton (1971), the three important characteristics of the primitive economy are:
(A). Small economy

(B). Essentially reciprocal

(C). Simple technology compared to the industrialized economies

(D). Geographical or cultural Isolation (Comparatively)

Choose the correct answer from the options given below.

1. (A), (B) and (D).
2. (B)and (C).

3. (A), (C) and (D).
4. (B), (C)and (D).

Options :

878270213093. 1
878270213094. 2
878270213095. 3
878270213096. 4

Question Number : 64 Question Id : 87827054133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



STee (1971) @& SIUR, NfeH srforawyl &1 dF Ay fagivdand &
(A) 7Y HdeaawT|

(B) 39 U ¥ URWRS |

(C) e fegawuradi @ ga- ¥ Wa Ui

(D) YIMTifeTes 91 W fad TG (oD €4 1)1

=td fau e fadedl & ¥ 981 SR 4|

1.(A), (B) 3R (D)
2 (B) 3R (C)

3. (A), (C) 3R (D)
4. (B), (C) 3R (D)

Options :

878270213093. 1
878270213094. 2
878270213095. 3

878270213096. 4

Question Number : 65 Question Id : 87827054134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Regarding the evolution of culture, science and religion, which of the following sequences are correct?
(A). Magic-Religion-Science

(B). Savagery-Barbarism-Civilization

(C). Religion-Magic-Science

(D). Barbarism-Savagery-Civilization

Choose the correct answer from the options given below:

Options :

878270213097. 1
878270213098. 2
878270213099. 3

878270213100. 4

Question Number : 65 Question Id : 87827054134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Gapid, fagm iR 41 & faery & 4y d Fufaiad § 9 ©F 91 %0 U8l 82
(A) STg- o=

(B) FEHTLTea-awd

(C) ST fasr

(D) FeRdI-FHAT-TEdT

=td fau e fadedl & ¥ 981 SR 4|

1.(A), (B) 3R (D)
2 (B) 3R (C)
3. (A) 3R (D)
4. (A) 3R (B)

Options :

878270213097. 1
878270213098. 2
878270213099. 3

878270213100. 4

Question Number : 66 Question Id : 87827054135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-ll

Anthropologist

Fieldwork among

(A). Radcliffe Brown

{1). Trobland Islanders of Malanesia

(B). Franz Boas

(II). High Land Burma among the Kachins

(C). Malinowski

(lIl). Andaman Islanders

(D). Edmund Leach

{IV). Baffin Land and British Columbia

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (IV), (D) - (N1}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (IV), (B) - (IN), (C) - (lIn), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270213101. 1
878270213102. 2
878270213103. 3

878270213104. 4

Question Number : 66 Question Id : 87827054135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tat-1 3R -l e &3

-l LiciAl

AT Fitsas & aig

(A) YTSEaE Fre-|(1) ATHRET & iEais gigardr
B)wEwEE (1) FE & " 3o uffy 9at
(C)AfeHe=st (111 3fSHH gigare
(D)USHS g |(1Iv) 91k o5 iR Bfew St
T ed 73 s oR T

1.(A) - (1), (B) - (IN), (C) - (IV), (D) - (1)
2. (A) - (1), (B) - (11}, (C) - (1), (D} - (IV)
3. (A) - (IV), (B) - (IN), (C) - (1), (D) - (1)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270213101. 1
878270213102. 2
878270213103. 3
878270213104. 4

Question Number : 67 Question Id : 87827054136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Ruth Benedict's work 'The Chrysanthemum and the Sword: Patterns of Japanes Culture'is considered as 'Applied
anthropology?

1. ltwas carried out by an accidental ethnographer among the oriental community.

2. Ruth Benedict was trained exclusively as an Applied anthropologist.

3. Ruth Benedict was assigned the task of studying he Japanese by the United States of America.
4. This was the first ever anthropological work done in Japan by any anthropologist till then.

Options : .
collegedunia:s
878270213105. 1

~



878270213106. 2
878270213107. 3

878270213108. 4

Question Number : 67 Question Id : 87827054136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FY e & O T FIRUUHA U8 § Wie: Ue-d 3G TIUH Bea? ®f TERs Uiiai ot A1 ol 57

1. g HIRTCT TG & oid U SR Teiagi R &d] T 41|

2. Y 13 I {421 © 4 U@ Sy Aaid o © # it fooa 7 o
3 T ST I §Ya g SR ZRI SUHA! BT T D B S G171 41
4 g U H o5t of Arata G foba T e AR b |

Options:

878270213105. 1
878270213106. 2
878270213107. 3

878270213108. 4

Question Number : 68 Question Id : 87827054137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ethnographic account based on fieldwork of . ‘Argonauts of Western Pacific'is a
landmark publication in Anthropology.

1. Malinowski

2. Radcliffe-Brown
3. V. Gordon Childe
4 Karl Marx

gcollegedunias

Options : ~



878270213109. 1
878270213110. 2
878270213111. 3

878270213112. 4

Question Number : 68 Question Id : 87827054137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& Ditead T NG QRS @, ‘Siicg it e Uit Giuiaiol H @ Uelad oM
|

1. o]
3.4 e T(E
4 BRI

Lo g LY

Options :

878270213109. 1
878270213110. 2
878270213111. 3
878270213112. 4

Question Number : 69 Question Id : 87827054138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The characteristics of culture are paradoxical because

1. culture is learned
2. culture is shared by human beings only

3. there are too many different cultures in the world
4 culture is universal while there are local cultures gcollegeduniag

~



Options :

878270213113. 1
878270213114. 2
878270213115. 3
878270213116. 4

Question Number : 69 Question Id : 87827054138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hepid 1 famivart faRtyryre 8, aifs -

]

Oplg O 9T 8

[=

O fa dad B8 gR1 G &1 Sl 6

1
FRRSES
:53FM'Ha§4eH|aw4ar4ﬁﬁwdmc
4. Tepfa QrEaviite & Safe RIH 9ol

[=

-

Options :

878270213113.1
878270213114. 2
878270213115. 3

878270213116. 4

Question Number : 70 Question Id : 87827054139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following is true about 'Slash and Burn' method of agriculture?

1. It is also known as Jhum, Bringa, Penda cultivation
2. It practised in plain areas only.

3. It requires ploughing by bull

4. Mostly wheat and sugarcane are grown

Options :

878270213117.1
878270213118. 2
878270213119. 3
878270213120. 4

Question Number : 70 Question Id : 87827054139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B B W (P1EN) AR & (30 UShd & aR J Fafafed # 9 17 91 981 82

1. 98 gA [§7 JsTEdl & ®U H 1l ST Sl 8
2. TUH] HWY had HaHl &= § fodr Sirdr o

Options:

878270213117.1
878270213118. 2
878270213119.3

878270213120. 4

Question Number : 71 Question Id : 87827054140 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1 g

collegedunia:
Minimum Instruction Time: 0

~



Correct Marks : 4 Wrong Marks : 1

Who is associated with the concept of 'Sanskritization'?

1. 5.C. Roy

2. M.N. Srinivas
3. L P Vidyarthi
4 NK Bose

Options :

878270213121. 1
878270213122. 2
878270213123. 3

878270213124. 4

Question Number : 71 Question Id : 87827054140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEPHAGIT BT SGYR T B ST §HT 87

1. Tg g
2. THTH SiHa™
3. uq. Ui faemf
4 TASH Y

Options :

878270213121.1
878270213122. 2
878270213123. 3

878270213124. 4

Question Number : 72 Question Id : 87827054141 Question Type : M(
Is Question Mandatory : No Calculator : None Response Time : N.A1 QCOIIegedunias

~

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The tribal studies, acronym for ITDP is

1. Indian Tribal Defence Police

2. Integrated Tribal Development Project

3. Internally Displaced Tribal People

4 Integrated Todas Development Programme

Options :

878270213125. 1
878270213126. 2
878270213127. 3

878270213128. 4

Question Number : 72 Question Id : 87827054141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SO 3eag. ors. o1 2. bt & dférd 9w &

q gr3ad 34 gferg
RS EEERICEREECAIEES
e3dll e uTias HEEN diga
cHies Tial Sgaude UM

et
And. 2nd. and. 2.

Options :

878270213125. 1
878270213126. 2
878270213127.3

878270213128. 4

Question Number : 73 Question Id : 87827054142 Question Type : M(
gcollegedumaﬁ

Is Question Mandatory : No Calculator : None Response Time : N.A1

~

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following statement is correct about Questionnaire and Interview Schedule?

1. Interview Schedule is filled by the investigator while a questionnaire is filled by the informant.

2. Interview Schedule is used only for English speaking informants while questionnaire is useful for a multilingual research.
3. There are high chances of incorrect and incomplete response In Interview Schedule.

4 There are no chances of incorrect and incomplete response in Questionnaire.

Options :

878270213129. 1
878270213130. 2
878270213131. 3

878270213132. 4

Question Number : 73 Question Id : 87827054142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG &R WIETR Sl oh o A T & § o 91 5 9l o7

1, TIOR3 g1 4R et S el 0o Tl el ¢ T g R o
2, AR S 1 9T o Sl et e fr ol T s e gl e o o S i

0
3 TR e T R SR o T 2 2
4. TSR T 3R 0 TR 9 B W T

Options:

878270213129. 1
878270213130. 2
878270213131. 3

878270213132. 4

Question Number : 74 Question Id : 87827054143 Question Type : M( gco”egeduniaé

Is Question Mandatory : No Calculator : None Response Time : N.AT..c.oix v vvic « rwers



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In British school of thought, the branches of anthropology do not include

1. Biological anthropology
2. Archaeology

3. Linguistic anthropology
4. Social anthropology

Options :

878270213133. 1
878270213134.2
878270213135.3

878270213136. 4

Question Number : 74 Question Id : 87827054143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafes framurT &, g &1 wrarsi & wnfie 761 &

1. Sifde ffasr
2. Rdd
3. HI9Tg Jias

4. IS JiagH

Options :

878270213133. 1
878270213134. 2
878270213135. 3

878270213136. 4

Question Number : 75 Question Id : 87827054144 Question Type : M( gconegedumaé

~



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following authors and their books sequentially, starting from the earliest to the recent one.
(A). Henry S Maine- Ancient law

(B). Charles Darwin- Origin of Species.

(C). Lewis Henry Morgan - Ancient Society

(D). E.B. Tylor - Primitive Culture

Choose the correct answer from the options given below:

A)

(A), (B), (C), (D)
(A)

(

(

)
B). (D). (C)
A), (D), (C)

i

1. (A), (
2.(A), (
3.(B), (

4 (C), (B), (D), (A)
Options :
878270213137. 1
878270213138. 2
878270213139. 3

878270213140. 4

Question Number : 75 Question Id : 87827054144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :

878270213137.1
878270213138. 2
878270213139. 3

878270213140. 4

gcollegedunias
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